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Read the following instructions carefully before you begin to answer the questions.

INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 175 questions to be answered in a separate OMR Answer Sheet using
Black Ballpoint Pen in the following three Parts :

Part—A : General English ¢ 50 questions
Part—B : General Knowledge & Aptitude § 25 questions
Part—C : Social Works : 100 questions

2. All questions are compulsory.

3. You will be supplied the Answer Sheet separately by the Invigilator. You must complete the
details of particulars asked for.

4. Answer must be shown by completely blackening the corresponding circle in the Answer Sheet
against the relevant question number by Black Ballpoint Pen. OMR Answer Sheet without
marking Series shall not be evaluated.

Example :

Suppose the following question is asked :
The Capital of Meghalaya is

(A) Guwahati

(B) Kohima

(C) Shillong

(D) Delhi

You will have four alternatives in the Answer Sheet for your response corresponding to each
question of the Question Booklet as below : :

® ® © ®

In the above illustration, if your chosen response is alternative (C), i.e., Shillong, then the same
should be marked on the Answer Sheet by blackening the relevant circle with a Black Ballpoint

Pen only as below :
ONON NG

The example shown above is the only correct method of answering.

5. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and
others easy. Do not spend too much time on any one question.

6. There will NOT be any negative marking for wrong answers,

3

. The Answer Sheet must be handed over to the Invigilator before you leave the Examination Hall.

8. No Rough Work is to be done on the Answer Sheet. Space for Rough Work has been provided in
the Question Booklet.
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                  YEAR OF ADVT:2024                 DATE OF EXAM: 25-MAY-2024


PART—A : GENERAL ENGLISH

( Marks :

100 )

Each question carries 2 marks

Directions (Q. Nos. 1-10) : In each of the
following questions, choose the alternative
which can be substituted for the given
group of words.

1. A person who goes on horseback
(A) Pedestrian (B) Epicurean

(C) Equestrian (D) Cowboy

2. A lady’s umbrella
(A) Parasol (B) Helmet

(C) Fashion (D) Shade

3. A sad song
(A) Ditty (B) Dirge

(C) Sonnet (D) Hymn

4. A person chosen by the quarrelling
parties to settle their differences

(A) Mediator (B) Arbiter

(C) Agent (D) Arbitrator

5. A person who talks continuously
(A) Avaricious (B) Loquacious

(C) Voracious (D) Imperious
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6.

10.

Doing harm secretly
(A) Insipid (B) Insidious

(C) Intractable (D) Inviolable

Moving from place to place
(A) Peripatetic (B) Oscillate

(C) Pandering (D) Locate

. A lady’s purse

(A) Parasol (B) Pantomime

(C) Reticule (D) Handbag

. A person with full discretionary powers

to act on behalf of a country
(A) Emissary

(B) Ambassador

(C) Plenipotentiary

(D) Envoy

A person who is very fond of sensuous
pleasures

(A) Epicure (B) Stoic

(C) Charlatan (D) Misogynist
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Directions (Q. Nos. 11-20)

: Choose the

correct alternative to fill in the blank.

11.

12.

13.

14.

15.

The dog has been _____ by the car.
(A) run out
(B) run over
(C) run into

(D) run at

I am interested

some other job.
(A) in

(B) about

(C) for

(D) to

ever see him

I wonder whether I _
again.

(A) shall
(B) will

(C) should
(D) would

He behaves as if he a king.

(A) was
(B) were
(C) has
(D) had

No sooner than the

handcuffed him.

police

(A) he came

(B) did he came
(C) did he come
(D) had he come
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16.

17.

18.

19.

20.

Infant mortality rate in China has
from 200 per thousand to 14 per
thousand.

(A) retarded
(B) declined
(C) contracted

(D) minimized

Modesty _____ a woman.
(A) becomes

(B) tells

(C) call

(D) rules

AIDS is not a disease that can be
through the air or by an insectbite.

(A) circulated
(B) transferred
(C) conducted
(D) transmitted

Macbeth is a tragedy of a man who was
____ with great qualities.
(A) empowered

(B) endowed

(C) obsessed

(D) possessed

Survival of mankind itself is in danger
due to ____ of atomic weapons.
(A) perpetuation

(B) regularization

(C) provocation

(D) proliferation



Directions (Q. Nos. 21-30) : Choose the 26. REBATE
word which is CLOSEST in meaning as the il
word given in capitals. (4) Commission

(B) Discount

21. SHOWY
C) Gift
(A) Rowdy ©
() THnary (D) Interest
(C) Greedy
27. CHAPERONE
(D) Gaudy
(A) Abandon
22. SYNOPSIS (B) Companion
(A) Index (C) Forsake
(B) Annexure (D) Ascetic
(C) Summary
(D) Expansion 28. POSTERITY

A) Prosperi
23. ALTERCATION (A) perity

(A) Choice (B) Wealthy
(B) Changes (C) Artist
(C) Dispute (D) Future
(D) Divine
29. ETHNIC
24. INFERNAL (A) Racial
il (B) Indigenous
a3 (C) Patriotic
:](3:)) EeVﬂfis? | (D) National
atefu

30. GAINESAYING
25. COMPETENCE

(A) Ability (A) Forgetting
(B) Compensation (B) Denying
(C) Competition ' (C) Ignoring
(D) Agility (D) Hiding
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Directions (Q. Nos. 31-40) : Choose the
is closest to OPPOSITE in
meaning to the word given in capitals.

word which

31.

32.

33.

34.

35.
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RIGID

(A) Tolerant
(B) Fixed
(C) Exact
(D) Lax

ACQUIT

(A) Retreat

(B) Quit

(C) Convict
(D) Conceal

CONSOLIDATE
(A) Expand

(B) Weaken
(C) Build

(D) Conserve

BENIGN

(A) Malevolent
(B) Soft

(C) Friendly
(D) Wise

ACUMEN

(A) Vision
(B) Intellect
(C) Imbecile
(D) Potential

36.

37.

38.

39.

40.

MODICUM
(A) Iota
(B) Scrap
(C) Plenty
(D) Crumb

ONEROUS
(A) Easy

(B) Complex
(C) Weighty

(D) Harsh

SALUBRIOUS
(A) Salty

(B) Unhealthy
(C) Wholesome

(D) Tasty

ECLECTIC
(A) Brilliant
(B) Diverse
(C) Broad

(D) Homogenous

INTRANSIGENT
(A) Harsh

(B) Reconcilable
(C) Impossible

(D) Indifferent



Directions (Q. Nos. 41-50) : Choose the
correct meaning for the words and phrases
given below.

41.

42.

43.

44,

To end in smoke

(A) To make completely understand
(B) To ruin oneself

(C) To excite great applause

(D) To come to nothing

To catch a tartar

(A) To trap wanted criminal with great
difficulty

(B) To catch a dangerous person
(C) To meet with disaster

(D) To deal with a person who is more
than one’s match

To drive home

(A) To find one’s roots

(B) To return to place of rest
{C) Back to original position

(D) To emphasise

To make clean breast of

(A) To gain prominence

(B) To praise oneself

(C) To confess without any reserve

(D) To destroy before it blooms

45. To have an axe to grind

(A) A private end to serve
(B) To fail to arouse interest
(C) To have no result

(D) To work for both sides
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46.

47.

48.

49.

50.

To be above board

(A) To have a good height

(B) To be honest in any business deal
(C) To have no debts

(D) To try to be beautiful

To put one’s hand to the plough
(A) To take up agricultural farming
(B) To take up a difficult task

(C) To get entangled into unnecessary
things

(D) To take interest in technical work

To leave someone in the lurch

(A) To come to
someone

compromise with

(B) Constant source of annoyance to
someone

(C) To put someone at ease

(D) To desert
difficulties

someone in  his

A man of straw

(A) A man of no substance
(B) A very active person
(C) A worthy fellow

(D) An unreasonable person

All and Sundry

(A) Only a rich person
(B) Together

(C) Selected people

(D) Everyone (without distinction)
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PART—B : GENERAL KNOWLEDGE & APTITUDE
( Marks : 50 )

Each question carries 2 marks

51. The blackboard seems black because it 54. Indra’ is a bilateral military exercise
between India and
(A) reflects every colour
(A) Russia
(B) does not reflect any colour
(B) USA

(C) absorbs black colour
(C) France

(D) reflects black colour
(D) None of the above

52. Which one among the following is the

main ingredient in cement? 55. Which of the following is the largest of

the inner planets?

) Gypsum (A) Venus
(B) Limestone (B) Mercury
(€} Clay (C) Mars
(D) Ash (D) Earth
53. Which one among the following is a 56. The speed of rotation of the earth is the
major source of sugar? highest
(A) Watermelon (A) along the equator
(B) Beet root (B) at the North pole
(C) Sugarcane (C) along the Tropic of Cancer
(D) Date (D) None of the above
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57. Which of the following is a tropical

58.

monsoon crop?
(A) Wheat

(B) Rice

(C) Cotton

(D) Maize

If there is no Sun, the colour of the sky
would be

(A) orange
(B) yellow
(C) blue
(D) black

59. Gautama Buddha gave his first
sermon at
(A) Vaishali
(B) Kaushambi
(C) Sarnath
(D) None of the above

60. Right to Information in India is a
(A) fundamental right
(B) legal right
(C) Both (A) and (B)
(D) Neither (A) nor (B)
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61.

62.

63.

The first Municipal Corporation was set
up in 1687 in

(A) Bombay
(B) Allahabad
(C) Madras

(D) Calcutta

The first fully Indian Bank is
{A) Canara Bank

(B) Punjab National Bank
(C) State Bank of India

(D) None of the above

Who was the first Indian woman
President of the Indian National
Congress?

(A) Mrs. Annie Besant
(B) Suchéta Kripalani
(C) Sarojini Naidu
(D) Indira Gandhi
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64. If KEDGY is coded as EKDYG, then 67. As ‘wheel’ is related to ‘vehicle’,

LIGHT will be coded as similarly needle is related to
(A) ILHTG (A) clock
(B) ILGHT (B) doctor
(©) ILGTH (C) stick
(D) THGIL (D) None of the above
65. If DOWN is coded as FQYP, then WITH 68. As ‘author’ is related to ‘writing’,
will be coded as similarly ‘thief is related to
(A) KYJV (A) night
(B) IJYK (B) stealing
(C) YKVJ (C) feel
(D) JKVY (D) None of the above
66. If CRY is coded as MRYC, then GET will 69. As Football’ is related to ‘Field’, in the
be coded as same way, Tennis’ is related to
(A) MTEG (A) Court
(B) MGET (B) Net
(C) MEGT (C) Field
(D) METG (D) Racket
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70. Which one of the following alternatives 73. If 625742 is the code for GARIMA, then
will replace the question mark (?)? ' the code for MARIA will be

CTPN : DSQM :: MUSK : ?

(A) 62752
(A) NVTL
(B) 42572
(B) NTTJ
(C) 57432
(C) NTTL
(D) 25752
(D) LTRJ
74. If A: B=3:4 and B:C=2:3, then
71. Which one of the following alternatives A:B:Cis equal to
will replace the question mark (?)?
Z,T,0, K H, ? A) 3:4:3
A) E B) 3:4:6
(C) F " (D) 2:3:4
(D) D
75. Find out the missing number from the
following arrangement :
72. What will be the next number in the b f-B
series? 8 2 8
4,59, 14,23, ? 4% ¥
@A) 37 A) 3
(B) 30 (B) 6
(C) 35 (C) 5
(D) 28 (D) 2
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76.

717.

PART—C : SOCIAL WORKS

( Marks :

200 )

Each question carries 2 marks

Society in sociological terms is

understood to mean

(A) a group of refined people

(B) an organization to undertake some
constructive activities

(€) a web of relationships

(D) an association to honour
scholarship

Which one of the following is the correct
statement regarding social change as a
concept?

(A) Social change has a direction

(B) Social change is controlled
(C) Social change is structured
(D) Social change is value neutral
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78. Which one of the following does not

79.

feature in the Indian Constitution?
(A) Federal structure
(B) Unitary government

(C) Separation of judiciary

(D) Fundamental rights of the citizens

New Economic in India is

characterized by

Policy

1. privatization

2. globalization

3. safety nets

4. liberalization

Choose the correct answer using the
following codes :

(A) 1 and 2
(B) 1,2 and 3
(C) 1,2 and 4

(D) 1, 2, 3 and 4



80. Match List-I with List-Il and select
the appropriate answer by using the
codes given below :

List-1 List-IT
( Level of ( Action of Social
Intervention ) Worker )

With disabled child
Working with
Panchayat for water
harvesting

Working with self-
help group of cancer

a. Micro level 1,
b. Mezzo level 2.

c. Macro level 3.

patients

Codes :
(A) a b c

1 2 3
(B) a b c

1 3 2
(C) a b

3 2 1

(D) a b c

81. Who among the following is associated
with the Gestalt system of therapy?

(A) C. R. Rogers
(B) Sigmund Freud
(C) F. S. Perls and Laura P. Perls

(D) B. F. Skinner
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82. In Social Case Work, interview is an
important

(A) tool

(B) method

(C) technique

(D) All of the above

83. Who is the author of the book titled,
Social Group Work : A Helping Process?

(A) Wilson G. and Rylang G.

(B) Trecker H. B.

(C) Philips H. U.

(D) Konopka G.

84. The most important central tendency is

(A) mode

(B) mean

(C) median

(D) standard deviation
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85.

86.

Primary Data means

(A) data collected for the

research

specific

(B) data collected by the researcher

(C) data that is very important

(D) data collected with great care

An NGO is registered under

(A) Indian Penal Code

(B) Societies Registration Act

(C) Industrial Tribunal Act

(D) ESI Act

87. The National Education Policy was

adopted in the year

(A) 1970
(B) 1986
(C) 1995
(D) 2001
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88.

89.

90.

Sustainable main

concern centeres around

Development’s

(A) poverty alleviation

(B) well-being of incoming generations

(C)

removal of illiteracy

reduction of infant mortality rate
(IMR)

(D)

Society is defined as a group of
individuals

each of whom interacts with each
of the other members at least
somewhat frequently

(A)

(B) who share common racial features

(C) who have shared common territory

for at least three generations

who share common culture for at
least three years

(D)

Social development has failed to make
appreciable headway in India. The most
common reason is

(A) corruption
(B) absence of trained manpower
(C) unwilling beneficiaries

(D) absence of resources



91. The Medical Termination of Pregnancy 94. Which of the following are the main

Act was passed in the year causes of social change in India?
(A) 1971 1. Independence
2. Industrialization
(B) 1961
3. Education
(C) 1978
4. Sanskritization
(D) 1981 Choose the correct answer from the
following :
92. Panchayati Raj Institutions in India o3 2 A
have brought about which one of the (B) 2, 3 and 4
following?
(C) 1, 3 and 4
(A) Eradication of untouchability
(D) 1, 2 and 4

(B) Spread of land ownership to the

depressed classes
95. The practice of untouchability is

(C) A formal representation of the abolished by the Indian Constitution in

weaker sections in village the Article
governance @A) 17
(D) Spread of education to the masses (B) 19
(C) 38
93. Socialization means (D) 42

(A) developing friendship with
unknown persons 96. Which of the following is not a principle
of social case work?
(B) ensuring equity in the society
(A) Principle of confidentiality
(C) the process of internalization of

T o (B) Principle of acceptance

(C) Principle of assimilation

(D) the establishment of rapport with
clients (D) Principle of self-determination
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97

. Match the correct author with the book

that he/she has written and select
the correct answer by using the codes
given below :

List-1
( Authors )
Arthur Fink 1.

List-IT
( Books )
Social Group Work :
A Helping Process

b. Gisela 2. Social Case Work :
Konopka A Problem Solving
Process
c. Murray G. 3. Community Organi-
Ross zation
d. Helen 4. The Field of Social
Perlman Work
S. Integrated Social
Work Practice
Codes :
(A) a c d
4 1 3 2
B) a b c d
5 3 2 1
(C) a b c d
1 5 2 4
D) a b c d
3 2 4 5
98. Which of the following is a Reference

Group?
(A) Occupational group

(B) Group taken to evaluate one’s own
aspect of life

(C) A relatively larger group

(D) A group which allows for social
mobility

/19-1 [CDPO, March-24]

16

99.

100.

101.

102.

The principal
programme planning include(s)

element/elements in

(A) Group member’s participation
(B) Group member’s interests
(C) the programme content

(D) Al of the above

Which one of the following is not a
fundamental right?

(A) Right to self destruction
(B) Right to constitutional remedies
(C) Right to freedom of religion

(D) Right to equality

Which of the following is not a tool of
data collection in Social Work
Research?

(A) Interview Schedule
(B) Interview Guide
(C) Case Records

(D) Questionnaire

Pilot study refers to a

(A) preliminary study conducted on a
limited scale before the original
study

(B) preliminary testing of the tools
used for the research

(C) follow up study done within a year
after the original study

(D) macro-level study undertaken to
test the hypothesis



103. Who had started the first school of

social work in India?
(A) G. D. Birla

(B) S. P. Godrej

(C) Sir Dorabjee Tata

(D) M. K. Tata

104. Which of the following is not a part of

the UN?
(A) FAO
(B) ILO
(C) WHO

(D) Ford Foundation

105. Adoption of Children in
regulated by the

1. Special Adoption Act
2. Hindu Adoption Act

3. Central
Authority

Adoption

4. Uniform Adoption Act

Choose the correct answer using the

following codes :

(A) 1 and 2
B) 1 and 3
(C) 2 and 3
(D) 1 and 4
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107.

108.

106. In HIV Counselling VCTC refers to

(A)

(B)

(€)

(D)

A)

(B)

(€

(D)

Voluntary Condom use Training
Centre

Voluntary Counselling and Testing
Centre

Voluntary Centre for Training and
Care

Voluntary Care and Treatment
Centre

Social Advocacy is not

lobbying with the government
mobilizing grass root organizations
working with media

organizing welfare pfograms

The Mental Health Act was enacted in

the year

(&)

(B)

(€)

(D)

Y
fe)
o0
(03]

1987
1989
1990
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109. Heredity is a factor. : 113. The term ‘social control’ was first used
by
(A) social

(B) political ' (A) Topinard
(C) Dbiological (B) Ross

(D) psychological (C) Sumner

110. Culture is (D) Merton
(A) genetically transmitted
(B) socially transmitted 114. Deviance
(C) politically transmitted (A) is only rewarded

(D) genetically and socially transmitted . .
(B) ‘is only punished

111. In all cultures, each sex is (C) may be positively sanctioned
(rewarded)

(A) exogamous

(D) None of the above
(B) endogamous

(C) unilateral

115. A situation where a student is expected
by his parents to study his lessons and
is expected by his roommates to visit a
movie house portrays

(D) subordinated |

112. Modernization refers to

(A) dress style (A) status conflict
(B) advancement in science and (B) group conflict
technology

(C) way of life (C) role conflict

(D) constructing more buildings (D} culture area
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116.

117.

118.

119.
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A tribal man is characterized by
(A) a few statuses and roles
(B) large number of statuses and roles

(C) no status and roles

(D) no roles

Which one of the following statements is

not correct?
(A) The Todas are polyandrous people
(B) The Khasis are patrilineal people

(C) The Bhils are the principal tribe of

Bihar

(D) The Murias are matrilineal people

Marriage within the caste is called
(A) . exogamy
(B) incest taboo

(C) sorotate

(D) endogamy

Incest taboos are imposed in order to

(A) limit authoritarian relations
(B) avoid confusion of generations
(C) improve family relations

(D) make life regulated

19

120.

121.

Which one of the following is the best
criterion of contrast between a rural
and urban community?

(A) Geographic location
(B) Specific size of population

(C) Specific density of population

(D) Diversification of occupations

Following are the steps of social
research. Choose the correct order of
steps to prepare a plan of research
study.

1. Data collection

2. Hypothesis

3. Problem formulation

4. Objectives

5. Processing and analysis of data

6. Report writing

A) 1,3,2,4,5,6
B) 2,3,1,4,5,6
€ 4,3,2,1,5,6

(D) 3,4,2,1,5,6
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122. The values of Mean, Median and Mode 126. Which of the following is not a social
are equal in a/an legislation?

(A) normal distribution

(A) The Protection of Civil Rights Act
(B) skewed distribution

(C) binomial distribution (B) The Beggars Act

(D) abnormal distribution
(C) The Hindu Marriage Act

123. Which one of the following is not a

: (D) The Forest Conservation Act
research design?

(A) Exploratory

(B) Descriptive 127. Which one of the following is not a
part of group processes?
(C) Experimental

(D) Social Survey (A) Subgroup

124. The Juvenile Justice (Care and (B) Group:diagriosis

Protection) Act was enacted in the year

b ool (C) Clique

(B) 1996 (D) Isolation of a member in the group
(C) 1998

(D) 2000

128. Which one of the following is not the
objective of an NGO?

125. Which is the International Voluntary

Organization promoting the Polio-Plus (A) Capacity building
Program?
(A) Oxfam international (B) Awareness building

(B) Action Aid International
(C) Spread of literacy
(C) Rotary International

(D) Care International (D) Profit making
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129. Who, from the following is not an 132. Psychoanalytic theory about human
environmental activist? personality was proposed by

(A) Sunderlal Bahuguna (A) Carl Jung

(B) Medha Patkar

(B) Skinner
(C) Dr. Vandana Shiva

(C) Sigmund Freud
(D) M. S. Gore

(D) Alfred Adler

130. Which one of the following is not a
technique of case work? 133. The book Social Diagnosis is authored
by
(A) Interviewing

A) Murray Ross
(B) Observation A

(C) Counselling (B) Mary Richmond
(D) Lobbying | (C) Fried Lander

(D) Helen Perlman
131. While working with an individual client
on a one-to-one basis, the relationship
= 134. Mean, Median and Mode are

(A) a friendly association
(A) Measures of Central Tendency

(B) a contract

(B) Measures of Correlation
(C) purposeful to meet the psycho-

social needs of the client . .
(C) Measures of Dispersion

(D) a sympathetic understanding of
the client (D) Measures of Time Series
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135. A society is called stateless when it 138. At what age the child takes his first step
in walking?
(A) has no fixed ideology
(A) 5 to 6 years
(B) has no fixed or permanent territory

(B) 10 to 12 years
(C) has oral tradition

C) 4 to 5 years
(D) All of the above ©) y

(D) None of the above

136. There is an evidence of a hereditary
component in development of the

. 139. A child is born with some
mental illness known as

(A) paranoia (A) qualities
(B) psychoneurotic disorder (B) ego
(C) schizophrenia (C) innate drives

D alysi
(D) paralysis (D) All of the above

137. Maturation changes occur in a fairly 140. What is the determinant of the scope of
predictable sequence and continue socialization of a child?
until

(A) Environment
(A) adolescence

(B) adulthood (B) Excitement

(C) old age (C) Development of physique
(D) None of the above (D) Language development
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141. Thorndike is remembered for his 144. What is Catharsis?
contribution to

(A) The reduction of tension by telling

(A) trial and error one’s problems to someone else

(B) The reduction of tension by talking,

(B) methods of learning one’s problem to everyone

(C) insight theory (C) Not making any attempt to tell
problems to any one else

(D) conditioning
(D) The reduction of tension by telling
one’s problems to professionals

only
142. Who used ink-blot test first?

Al Ga'tan 145. Paradigm stands for
(B) Rorschach (A) model
(C) Medongall (B) role
(D) Freud (C) skill
(D) quality

143. The term personality has been derived
from a/an

146. Gemeinschaft and Gesellschaft refers to
(A) German word
(A) community and groups

(B) Greek work
(B) community and caste

(C) Latin word (C) community and association

(D) English word (D) community and neighbourhood

/19-1 [CDPO, March-24] 23 [ P.T.O.



147. The Child Marriage Restraint Act came 150. Identify the correct answers :

inte force on . ; .
Recording in social casework can be

classified as
(A) April 1, 1928

1. narrative recording, process
(B) April 1, 1929 recording, evaluative recording
and summary recording
(C) April 1, 1930 2. problem oriented, field oriented,
process oriented and individual
- (D) April 1, 1931 centered

3. refferal summaries, diagnostic
summaries, narrative records and

148. Probation means ;
problem oriented reccords

(A) release on license 4, process oriented, narrative,
situational and analytical

(B) release on bail

A 1,3,4

(C) conditional suspension of punish- B) 3,4
ment
€ 1,4
(D) suspension of punishment D) 1,2,3
149. Which of the following are not

principles of social group work? 151. Identify the correct sequence :
1. Orientation (A) newly married couple, child

bearing families, families with
pre-school children

2. Self-actualization

3. Progressive Programme Experi-
ences (B) child bearing families, newly
married couple, families with

4. Guided Group Interaction
pre-school children

Choose the correct answer using the
following codes : (C) families with pre-school children,
child bearing families, newly

A 1,4 ,

married couple
B) 2,3
o) B4 (D) families with pre-school children,
© 3, newly married couple, child
D) 1,2 bearing families

‘ /19-I [CDPO, March—24] 24



152. Polygamy is a form of marriage in which 156. The ultimate goal of a women’s self-help
a woman can have more than group is

(A) one mate

(A) savings
(B) one husband
(C) many husbands (B) loans

(D) a limited number of husbands v
(C) insurance

153. Legislative provision for inter-caste (D) empowerment
marriage in India was first provided by
(A) The Hindu Marriage Act, 1955

(B) The Special Marriage Act, 1872 157. The study team on Social Welfare and
Welfare of Backward Classes was

(C) The Hindu Code Bill, 1956 constituted in the year

(D) The Hindu Gains of Learning Act,

1930 (A) 1948

154. Women, in the modern family, has (B) 1950
assumed

(C) 1958

(A) much economic independence on

account of employment
(D) 1960

(B) a subordinate position to her
husband

(C) superior position to her husband 158. Which country among the following is

(D) a spirit of indifference not ratified the ‘Convention on

Elimination of All Forms of Discrimina-

tion Against Women (CEDAW)?
155. Which factor is mainly responsible for

the change in family relationship in N
; (A) Germany
modern times?
(A) Status of women (B) India
(B) Modernism
{C} United States
(C) Geographical mobility

(D) Division of labour (D) Pakistan
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159. Putting oneself in the shoes of another 161. While conducting a social survey, the
person and understanding his/her questionnaire  technique s not
perceptual world is applicable if

(A) there is widespread literacy

(A) empathy (B) the area to be covered is vast

(C) there is male illiteracy

B iti d
(B) positive regar (D) there is overpopulation

(C) genuineness 162. Which among the following is a
tentative proposition, the authenticity
of which is yet to be ascertained?

(D) None of the above (A) Index

(B) Hypothesis

160. A social researcher can use interview (C) Introduction

than a questionnaire to collect good and :
more material in getting information in (D) Conclusion

a short time when he meets persons of

163. According to H. H. Perlman, the four
: basic components of social casework
(A) a particular area o

(A) person, place, problem and process

(B) a different area
(B) person, problem, purpose and

process
(C) a bigger area (C) purpose, problem, process and
programme

(D) process, purpose, planning and
(D) a wider area principle
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164. The first country to launch a nationwide 167. UGC Second Review Committee for
family planning programme is Social Work Education submitted its
report in the year

(A) China
(A) 1964
(B) Russia (B) 1972
(C) America (C) 1978
(D) 1981

(D) India

168. Which one of the Articles of Indian
Constitution made the provision for free
and compulsory education for all the
children up to the age of 14?

165. The process of translating social policy
into social service is

(A) social welfare ,
(A) Article 42

B ial acti
(B) social action (B) Article 43

(C) social service administration (C) Article 44

(D) public administration (D) Article 45

166. ‘Apartheid’ refers to 169. Crises Intervention is

(A) social discrimination ). pepehglagicl first aid

(B) an event that alters the total life

(B) political discrimination situation

(€} racial diSSHATEY (C) a modifying form of intervention
iscrimination

(D) gratification of a variety of personal
(D) spatial discrimination needs
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170. Identify the correct sequence regarding 173.

stages in social casework.

(A) Study, Intake, Social Diagnosis,
Treatment, Termination, Evalua-
tion

(B) Intake, Study, Social Diagnosis,
Treatment, Evaluation, Termina-
tion

(C) Intake, Study, Social Diagnosis,
Treatment, Termination, Evalua-

tion 174.

(D) Study, Social Diagnosis, Intake,
Treatment, Termination, Evalua-
tion

171. The Indian Journal of social work is
published by

(A) Jamia Millia Islamia, New Delhi

(B) Delhi School of Social Work, Delhi

(C) Tata Institute of Social Sciences, 175.

Mumbai

(D) Nirmala Niketan, Mumbai

172. Social Welfare traditionally includes
(A) relief
(B) curative services
(C) rehabilitative services

(D) All of the above
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Oedipus Complex is associated with

(A)

(B)

(€

(D)

oral stage

anal stage

phallic stage

latency stage

International year of the Disabled
Persons was

(A)

(B)

(€

(D)

1971

1981

1991

2001

Which one is a feature of community
chest?

(A)

(B)

(€)

(D)

To develop leadership in the
community

To distribute funds to various
agencies

Abolish discrimination between
different castes

To develop religious harmony in
the community
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